ASSEMBLY INSTRUCTIONS page 1/4

= aspenhome,

Distributed by Furniture Values International, LLC

ITEM NO: 135-307-1 66" Desk for a Return
135-308 48" Return Desk

HARDWARE PACK FOR -307-1] COMPONENT LIST -307-1
A (mmm Bolt (@1/4"*2-1/2") 12PCS | Legs 6 Pcs
B © Lock Washer (31/4") 12 PCS
C Flat Washer (@1/4"*3/4") 12 PCS
D —_ Allen Wrench (4mm) 1PC
HARDWARE PACK FOR -308 | COMPONENT LIST -308 |
A pmmm Bolt (@1/4"%2-1/2") 10PCS | Legs 5 Pcs
B © Lock Washer (01/4") 16 PCS
C Flat Washer (©1/4"*3/4") 16 PCS
D —_j Allen Wrench (4mm) 1PC
E mmm Bolt (@1/4"*1-1/2") 6 PCS
Power Strip

CAUTION:

1.Pick up the desk when moving the desk. Make sure do not slide the desk on carpet or tile.
Otherwise, the base will be stressed and broken.

2.Take off the Inner-box, and make sure all the staples are removed before assembly. For
preventing harm to consumer.

A UNIT SHOULD BE INSTALLED BY 2 OR MORE PERSONS.

MADE IN VIETNAM DATE: 2016-11-29



ASSEMBLY INSTRUCTIONS

Page 2/4
= aspenhome
Distributed by Furniture Values International, LLC
ITEM NO: 135-307-1 66" Desk for a Return
Take the cover plate off when needed. Detail 3
Metal plate mounted in
. the flip-down drawer front —
Power Strip Hook latch —
S

Press here to release

- .
) l
)
/
! D
! °
'
! 3

Remove g —

Key for
file lock

Remove the wood screws on the side

Hardware pack. panels of drawer box to remove the
Legs rod loops and file rods if necessary.
)

Detail 1
leveler. é éA
g8c!
dowel hole/ (-
ASSEMBLY STEP:

1. Put the desk upside down on a soft,clean surface.

2. Attach legs to the bottom of desk using bolts (A), lock washer (B) and flat washer (C). See detail 1.

3. Turn the desk to the upright position.

MADE IN VIETNAM

DATE: 2016-11-29



ASSEMBLY INSTRUCTIONS

Page 3/4
ah h
@ aspenhome.
Distributed by Furniture Values International, LLC
ITEM NO: 135-308 48" Return Desk
Detail 5
When you prefer to adjust the

leveler. / é
dowc\l\hole |

/ \
I \
/ \
|
i
\
\ i
\ A
\ - \
v \
\ /
\ N
S | S
| T \
>~ | |
N i
S |
~ i —
N | —
\ Y T |
LN T
\ 3 I
\ /
\ /

location of shelf, take off
screws and reinsert the shelf
brackets into the holes. Then
place the shelf on and
re-secure it.

|
— |
Nl
Detail 6 =
Metal plate mounted in
the flip-down drawer front— Press here to release
Hook latch — . \’41»*
|y -
ASSEMBLY STEP:

1. Put the desk upside down on a soft,clean surface.

2. Attach legs to the bottom of desk using bolts (A), lock washer (B) and flat washer (C). See detail 4.

3. Turn the desk to the upright position.

MADE IN VIETNAM

DATE: 2016-11-29



ASSEMBLY INSTRUCTIONS

Page 4/4

“ aspenhome,

Distributed by Furniture Values International, LLC

ITEM NO: 135-307-1 66" Desk for a Return
135-308 48" Return Desk

Adjust the leveler Detail 8
when necessary

ASSEMBLY STEP:

1. Align the holes in the desk end connector with the holes in the return.

2. Use bolts (E), lock washers (B) and flat washers (C) to connect desk and return. See detail 7 and
detail 8.

3. Use an Allen wrench tighten all the bolts.

MADE IN VIETNAM DATE: 2016-11-29



	I35 HO AIS Model (1)
	I35 HO AIS Model (1)
	I35 HO AIS Model (1)
	I35 HO AIS Model (1)

